SGC
BLOCK LIFT KIT

FITS YAMAHA G29







»

[/ T YEEESYTE R

T S o o o L L

4
p .z

LIFT KIT INSTALLATION INSTRUCTIONS

YAMAHA G29 -
.
Check List
~
PATENT PENDING
w
ﬂ ol [©
- S A siom
1. Main bracket 2. Front shock mounting bracket ‘i
(@] (6] [ — — 1 *
@]
g
© © .
| 4. Steering
3. SGC Plate riser
~
@)
o - o Q
5. Rear shock mounting bracket 6. Sway bar bracket
N
Used place SEQ Name Specification Qty N
Hex Bolt 3/8-16*3 4
main bracket 7 Flat washer 3/8 8 %
Lock Nut 3/8 4
. Hex Bolt 3/8-16*23/4 2
stock shock to shock mounting 3 Flat washer 3/8 2 .
bracket N
Lock Nut 3/8 7
Hex Bolt 3/8-16*1 2
front shock mounting bracket 9 Flat washer 3/8 4 ‘
Lock Nut 3/8 2
Hex Bolt 3/8-16*31/4 4
a-arm 10 Flat washer 3/8 8 %
Lock Nut 3/8 4
Hex Bolt 3/8-16*31/2 4
steering riser 11 Flat washer 3/8 8 ‘*
Lock Nut 3/8 4
R . Hex Bolt M10-60 2
ear Suspension y
Shock mounting bracket 2 filat washc he 54 ‘
Lock Nut M10 2
S bar Brackat 13 Hex Bolt M12-25 1
ke < Lock Nut M12 1 ‘
Hex Bolt M10-90 1
Sway Bar Bracket 14 Flat washer M10 2
Lock Nut M10 1 ‘
15 Drill Bit 1l 1
Reserve the right to change the parameters without prior notice. ‘
WWW.STEELENGGOLFCART.COM / b
NN N N N NONON N NN T



o A

s

AR o o o A

LIFT KIT INSTALLATION INSTRUCTIONS

YAMAHA G29

1. Remove front wheels and hubs. Then disconnect tie rod end from spindles,
shock from cart frame, a-arm from cart frame. Try to take off spindle, knuckle
bracket and a-arm as a whole assembly. Discard steering bracket.

2. Install front shock mounting bracket #2 on the cart frame using supplied

Hardware #9.

WWW.STEELENGGOLFCART.COM

%

N

N

p

N

~

L T

/s

) |

«

‘
5
5
.
|
b |
%



o A

s

AR o o o A

LIFT KIT INSTALLATION INSTRUCTIONS
YAMAHA G29

3. Rotate the front shock mounting bracket #2 so the lower proportion of it leans on the
cart frame.

4. Use a marker pencil to locate the hole on the cart frame, drill it with provided drill bit #15.
Then secure the front shock mounting bracket on the cart frame with hardware #8.

WWW.STEELENGGOLFCART.COM
N N N N \ N N N N ~ N L

/s

‘
5
5
.
|
b |
%



-~

P

o O

- EEET Y F v

LIFT KIT INSTALLATION INSTRUCTIONS
YAMAHA G29

5. Install main bracket #1 on the cart using hardware #7.

WWW.STEELENGGOLFCART.COM

N N N \ N N N ~ N ~



LIFT KIT INSTALLATION INSTRUCTIONS
YAMAHA G29

%

x

¢

-k F ¥ J/

g A A A A T

6. Install steering riser #4 on factory spindle using hardware #11.

WWW.STEELENGGOLFCART.COM



N
=

LIFT KIT INSTALLATION INSTRUCTIONS )
YAMAHA G29 b

ra

AR S S e
= Ao 4

e

7. Attach SGC plate #3 to main bracket. Attach a-arm to main bracket with hardware #10.
Attach shock to shock mounting bracket with hardware #8. Attach tie rod end to steering

%
%
N
K riser with retained hardware.
W

%

o

N

N WWW.STEELENGGOLFCART.COM /

N
"
"
‘.
|
8. Reinstall hubs and install new large front wheels. ‘
4
~
BN N N N NN N AR e



Ve ot

g PP

S L S

7

LIFT KIT INSTALLATION INSTRUCTIONS
YAMAHA G29

10. Remove motor cover and retain. Remove upper bolt from rear shocks
on both sides. Retain hardware.

11. Attach rear mounting bracket #5 in the opening using hardware #12. Be sure the
ends of the bracket are angled towards the front of the cart. Attach upper portion of
rear shock to rear mounting bracket using hardware from step 10.

WWW.STEELENGGOLFCART.COM

N N N ~ N\ N N ~ -~ N N



Ve ot

L e

g F P

A S S o o L e s

LIFT KIT INSTALLATION INSTRUCTIONS
YAMAHA G29

12. Drill hole through the bagwell in the location shown. Depending on
manufacturing year, a rivet or bolt should be removed first. Be sure to drill
straight down through entire frame. Drill bit provided.

Rear Inner fenders & rockers
will need heated, reformed
or cut for tire clearance

13. Attach sway bar bracket #6 using hardware #13, M10-90 from hardware #14
through the drilled hole down to top. Attach sway bar to sway bar bracket using factory
hardware. Install larger wheels on.

WWW.STEELENGGOLFCART.COM
N \ N \ N \ N N ~ N N N

~

£

%






/7 °

-V RETURN MERCHANDISE AUTHORIZATION

Dear Valued Customer,

Thank you for choosing Steeleng Golf Cart Accessories for your golf cart needs.

We apologize for the issues you are having with your purchase. We strive to offer the absolute best

quality at the absolute best price.

To best serve you, we do need a little information to help process your return and/or exchange faster.

Please complete the following and include this entire form with your return.

Name

Shipped To Address STATE

Purchased with: eBay Direct Phone Order

This is for EXCHANGE REFUND

Please describe reason for return:-

ZIP

Our Return Address:

Steeleng Golf Cart Accessories
3309 Laurens Road,
Greenville, SC 29607

Tele: 864-675-1103

For Office Use Only:
Received By: Date

Refund Amount Exchange Issued

**Steeleng Golf Cart Accessories reserves the right to charge a 15% restocking fee for all returned

and/or exchanged items.



